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S. TRIFICT QFB T AT IR I 3 ?
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T NPT () AOPE) CIET ATFAET AP SN 3@, IR aft 7o 71
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oan oo
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¢. (I SIINTAr sieTa sifoxfe a7 303?
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AT PNGIRTSAGE @6 fAga Ig T @GIERT @19 aIR [Rgsias <& (EMF)
AT FaC0 770 2|1 AfS @IFBNGIET G & e

b. SIEIT Gl TH<HIY [9e7 &1af6?

MLT"
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MLZT
ML2T2

Qanoow

$8d: a. MLT!
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@l MLT "I
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70 dB
50 dB
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90 dB
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IS oy
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58. a6 I BRI WIRI (YT At FF 5 seconds @ 187.5m Y Wiowy
371, GBI I 672
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b.25 ms™

c. 15ms™

d. 7.5 ms™
&@d: €. 15 ms™
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a. e
b. @sfq

C. Il
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SRGE Q@M 37, QIR T WK SIHTL FAIGE @ 26T aF Rpfs e 9 231
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IR
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FAE 96 FACH OIFF Fa ARNIOET B A IEAE [ IS 37|

0N oTw

IS (Chemistry)

5. fareg 1t wfgs AfEaat =19?

NaOH
KOH
Ca(OH),
NH,OH

o N ow

$ed: b. KOH

AT BTG AL TRITT 9F3 2ot ToIF (I A6 I 211 Na @3 K 9353 apeot
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2. fates @19 w=f6, pH=7.4 T (151 I QF pH TIT FIR?

C;HsOH
C3HeO
CH;COOH
CeHe

oan oo

$wd: ¢. CH,COOH

AT pH 4.8 Q6 ANy I I [TICF T IR | QI pH FACO 2@ 90
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oan oo

$8d: a. CzHsN;O,

IrATT: FEAINIBET A4 SoATIE T ARcGifasRa, T Imafas s1e@s CHsN; 0,1 aft
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8. (OIS IGIRT MW 17 ©IfF 419fS AT 1 AR FF?

Cd
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Pb
Cr
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AT oIS BT, [Res T Stor-wuifsts 1GifF, 31 (Pb) 931 @& | 61T g
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Zn
Cr
Fe
Ca

oan oo

T8d: b. Cr

AT @I (Cr) @3 F9A1F (Cu) RSO Srei@ s oey oItid d-SFR6AEE WEy<f
1 59yt spf e, T SR FEHGS RO famws Bfsws|

v, T IS d-FFT @ 7Y (62
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436
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AT HRCTRIF AT QTS AIN T SR (TR 8o d) a3 g
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v. CH, + H,O — CO + 3H, gfeits [fsay &9 aosit 35930 3ta0g?

K,O
Ni
Mo
Al,O4

Q0 oo

T8d: b. Ni

JITATT: R a3e Tty e [ifarg (Row i) I IEIET 8 3@GIcsd sirst
e A (Ni) 2o RETE IRzo 271  ft Freosa BREIcte SeAWET 9o
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5. T s af et 35 I9T° 37 @16 ?

a. IR WHG
b. &= K6
c. Q@fT= afste
d. = FIKEs
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AT QP WIS (H3BO;) ©IF 7 @f B+t a3k mars-afom@iat ek o &R
ANSTIF, (GITAT G QL WA L@ %0 27 |

0. (TG AT AW MTHH?

a. SIeTPIF TIRSAZG
b. SIS =19

c. freTer S13Gs

d. saifee

TQd: b, ALFY I

AT SR 7 (NaCl) @FfB A5l 3R Iz 770 AIPIoD Ay 1w | aft
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5s. e @19 sgaft 5T @iy 159 F03?
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c. Hg*
d. Zn%*

$wd: b. Ni?*

AT WRRIBI AIQBEIR (Transition metals) SIS LTS 5T @IoF 9159 T,
IV BT d-WIRGIE So77I<f 3G A Tt d-d FIIfSrIEd I AT CEey
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2. f[ateg 1967 Tig swIor I &3 2
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Cl,
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Q0N oTw

$wd: a. F,

NI IS TENT T G (F,) aF o6 ANaso! QI S Fuo! AIGE
&1 aft *r=fi TN SR AfeTa! engs|

0V, PITICHTA O@Q‘al(ﬂ SABIL %% 7

HgCl,
Hg.Cl,
MnO,
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Q0N oTw
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G|

PARG (3)
BRI
AT

TBd: C. 3T

AT G4 3T 9O I, @A 5 S #nfag e 2w s aft asfe
FAROIA BIVS B, B 7 IS 479 3¢ 3T |

o n oo

sv. afsre IR ey Wit @152

oF
co
SO,
CO,

QN oTw

$ed: . SO,
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Sb. Y9 QfSTG 8 3« FHIFF BIRGHE 73I%S [ 1 (1af6?

a. feoam

b. e UUifas
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FITHAfAT (pH b.2-50.0) Q3 AR FIFISIR TS FE|
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Ged: C. AN o Sgrf ace
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d. RS 3 e

Teq: d. oo 8 @i
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b. F&q

C. AT
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7T foeesar (Ctenophora) #&3 arfidr fgwidis &ifSsiry (Biradial symmetry)
ST T, @AE Hf o0 IFRT AfSSTy ot T

q. @1 SAIBFIT (Cycas) Sfeaz @f8y?

IS *TLAT-PIrAt T
NN OIPIRG [Ryae

ST
5T fseora RS

T8q: d. e ifsreora f[(ifxe

AT BT QF6 IS BB, T IS ALIFIS SR 3T QL ATOTSTEH AFFe
QT 2Pfox 21 aft REvEgen] 93 CPIERITIRE 44|

on oo

v. {3t o7 om0 offgaw 33?

ey
et
|
(BB

T8d: b. A=
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0. [AET @19 37T HFRAT BGIFIHS Qe f[qeszd gy @2

a. aroEPfad

b. fcwioa
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d. -mfga
a3 d. miga

AT SRGT T NFFAT G @ @ (3570 77 93: aft g wits
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o
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a. ifzo ge<si<p!
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C. JQIT Qroirs
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Sb. AT I WIRIF J(BI (PIVIN?

QAT AT
QFIEG AP
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Q0N oo
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25. SfERHITT ABCEISE FLI2R WAHYBT 19 FI?
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&ed: d. chloroplast
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a. @M@
b. opasfamr gz
c. BI3TET @l
d

. PR QI
Ted: C. I3TES @l

AT (O, PSR QIR ZPE e 2T RIS G| BIZHETG G 2!
IO (Salmonella typhi) TR 518 a6 G&To

b, fIe3 @19 TR g& wf{red 2rers I1E?

Azotobacter
Bacillus
Clostridium
Staphylococcus

oan oo

$wd: c. Clostridium

77 Clostridium 2T @0 SRR JFIFORAT, T J& ARCSH JIGI3 600 AT
a3 s (TS A& | Azotobacter 8 Bacillus ST4iFes SIEIRE @3] Staphylococcus
FIIPICO 00 WIHIEIIRS|

2. YIS (Fire Algae) 1T #if3fos faes @af6?

Euglenophyta
Pyrrhophyta
Chrysophyta
Phaeophyta

o noow

T@d: b. Pyrrhophyta

JTLA: ATBEIBIRG! (Pyrrhophyta) &R CIRIFSTE ICGNEETST (NN SRAT I
Fyo!) e ST AN M 'Fire Algae' It #ifFfow | SEEHITEEGT O3
R G |



Vo, IR OIgAN) f[Fea @19t 51 52

Ifzsmef
s 3f
RS
CINIRGIEG|

o n oTw

Ted: b. TS

AT FEICRT W8I (Inner ear) W% S 63T SI5F (Vestibular system)
NI S THI B3FFo | SRFI N9 |

0. LI IITOIFNT WAFT AT DI ?

a. s zroeE
b. S MGl
C. Sibe IGes
d. I TS

T8 d. IG TSI

NI ALY IGGI5H I Simple fracture & I 2rGS5 (Closed fracture) I« 29,
T 3T (ST SIS 7T WH0 AP QIR IR (A G I 1

3¢tafS& (English)

5. Fill in the blank with an appropriate preposition. ‘He came__a good
family.

a. to
b. out
c. of

d. from

$ed: c. of

AT 'Come of' @B phrasal verb TF W '@ IET ARIF I I (A WA AT
' I fAfiE B (I Tgo zen' |



2. 'Qf 5 wrrer qte wsea?’ eI sifd s 3wl s =ee-

Will you come today night?
Will you come tonight?

Will you come this night?
Will you come present night?

oan oo

&8d: b. Will you come tonight?

AT "Tonight' 3¢ 't Jite” @ i3 3@ &fs<1=1 'Today night' It "this
night' STEIFYS JJ7z0 T 11

0. 'TIER T |’ 16T AT 33@fe W 33-

Call doctor
Call for doctor
Callin a doctor
Call in doctor

on oo

$wd: c. Call in a doctor

JrATT: 'Call in a doctor' JIE 'AFGF SIS (O Wil 1 '{ofFestg oy urerg
TG | 'Call for' I 'Sl I 'ATGT 28T |

8. Hearing the noise, the boy woke up. Here the word ‘hearing’ is a/ an-

a. noun
b. participle
c. verb

d. adverb

T@d: b. participle

JITAT QU "hearing' *Af6 @6 Present Participle, T @36 Adjective QT Jcot FTet
@ 93X 'the boy' & IfAT FI0g, WL "I B (FEATG (ST TS |

¢. All spoke in his favour. Here the word ‘All" is a/ an-

a. noun
b. adverb
C. pronoun



d. adjective
&@d: C. pronoun

AT Q3 I Al =AS H1B I B @RS I_TS 3@ 932 Noun ad
i3S Iy, ©r3 aft @6 Indefinite Pronounl

v. Choose the correct sentence.

a. All that glitters is not to be gold
b. All that glitters is not gold

c. All that glitter is not gold

d. All that glitters are not gold

T@d: b. All that glitters is not gold

T @ft a6 ebfere &m 171 "All that glitters is not gold' I=FS 51f3<F 1 QAT
'All that glitters' @35 Singular Subject eI e T, I3 'is' IITO X |

q. An antonym for ‘smart’ is-

irrelevant
boring
stupid
difficult

on oo

&8d: C. stupid
AT 'Smart’ W IS I BTG | aF [P <=7 3¢t 'Stupid' (&1 |

. An antonym for ‘'modern’ is-

outdated
ancient
past
medieval

on oo

$ad: b. ancient

I '"Modern' 5 Wigfa<s | @F {919 <=7 3T 'Ancient’ (21819) | 'Outdated' S
CT, 'past’ JIE wors, 'medieval’ I FLFNT|



. et WN w3 IR @31 IFBT 73T 33@fe wgmm &t ?

I must do the work

The work must be done

I will have done the work surely
I must have the work done

oan oo

$wd: d. I must have the work done

gt aft @6 Causative verb a3 @izt 'Have + object + past participle' st5afG
T @RI (@ 6T Hq) PO M I’ IREA @ |

0. VGF stands for?

Vulnerable Group Feeding
Vulnerable Group Funding
Valuable Group Finding
Village Group Funding

on oo

&ed: a. Vulnerable Group Feeding

I VGF @F 9f<f=it 3¢ 'Vulnerable Group Feeding'l aft IRmeid @6
Frifers fagterer 5o |

5. Which one is the correct active sentence of the passive form
‘English is spoken all over the world.’

a. People speaks English all over the world

b. All over the world all people of the world speak English.
c. People speak English all over the world

d. All the world people speak English.

&@d: C. People speak English all over the world

AT Passive voice 'English is spoken all over the world' @3 Active form @&
'People speak English all over the world'| QU1 'People’ 2T Subject QIR 'speak’
R Verb @3 Base formi

5X. Which one is the correct sentence given below?

a. You, he and I went there



b. He, you and I went there.
c. You, I and he went there.
d. You, Iand he went there.

$@d: a. You, he and I went there

7T Pronoun IR A1fd< @ 3¢ 2nd person (You), 3rd person
(He/She/They), 1st person (I) - @<t 231 faxx1 13 'You, he and I' 5if551

50, ‘BIF (*PI 12’ Q IFIBF 3@ & WII™ 3(I-

What is his position?
What is his capacity?
What does he does?
What is he?

oan oo

$wd: d. What is he?

AT '"What is he?' SItd "SIF PN 2" 'S B 2?1 Qft (0PN 57946 Bridco 5resig
Q3o Aofero Qe ATFE o]

58. Synonym for ‘courteous’ is-

a. intelligent.
b. well off.
c. polite.
d. kindness.

T@q: C. polite.

AT 'Courteous' WY AR A1 ©7 | QI TS =7 3Tt 'Polite’ |

se. ‘or3fg wWify It rer s’ Aw1foa 7w 3@fs waam zEt-

Thinking, if I could be a king!
I wish I was a king!

I wish I were a king!

I wished I were a king!

oan oo

@3 ¢. I wish I were a king!



AT WRABI 3071 I FHAT QRS 'T wish' OF 217 Subject + were JTS 2,
regardless of the subject's number or person| o3 'I wish I were a king!" s1f3<s|

sY. “The convict appeared - the court.” Fill in the blank with
appropriate preposition given below.

in

to

before
at

00N oTw

$8d: C. before

7T 'Appear before' FIE 'FIET ANE SR 28T, RO @ @IET TG
REIET | B3 'before' QAN AGE GTS preposition|

MLIAY @I (General Knowledge)

5. GToIT @Y qf6T AL Sty JCHI-

a. 334 Fieg o eI IR [AFee st
b. @3¢ Fieg oM Prgeifsmz wafasa crea
c. Roaf Frgefomm oriia Fome I[EE 90 [0
d. WATGAIT Q2 FfoFT 34 AFS I Al

T8 d. WATSRIT QI Ffodg OFY HF© IF 3!

AT SO 3T ST TAroN LT ST 3T (CIT FGEI F I G
WG, o QL [FEIIET 34 Teovd 8 IreaeTosIY IF 3l

2. IHATHH “BIFT (B35 2052 -Q WEHIATNT F© IILNH AFET F0R7?

q SO
Qq I
20 iy
0 B3O

$8d: C. R0 A

00N oTw



JITLAT: 2059 HANCH BIFT (BGB JIRFATTT NEZAAIE 20 ANE HANfSTS FE|

0. W& (Leap year) Iroto it IF+Af& s s forag a1 3162

oft
¢fo
aft
8fo

Swd: b. ¢f5

JITATT: IS IFATGHTE N (A 17 2ITS AT ¢ T 05 Tiw 371 @90 e
5@ 1B v [T vo i 37, O WA HIga I 05 T 2

o noow

8. I FFTO! Y “AILASIF" (oIS FIFAF 17 1?2

oiNd {73 8 o @sw

. o aga 3 o [T

Gifsa @915 @ ot o

. (I fETeIfN_Y 8 SR 3Ny

Ted: a. oiaag (77 8 o @

AT IFATCIT FIRTO! JF7 ' AT (40N 7369 FI JFS@AG 2T« FIe6d
ot @ a3 T [ S

o noow

¢. “A Brief History of Time"” &35 I5fe! &2

. JG B3I
QGG RIS
o afst
. et og

T8d: c. Forpq 3t

J7rgT: “A Brief History of Time” 2t anrs smidfRearqt Pocra 2f6-93 741 916
THfI freerq o |

QN oo



v, fIe3g e @ 19T fastaas i[5t a1 19162

BRI

SN
BIREI]
iG]

Teq: d. 59
JIILTT: ISAIE BN [Kedg 5w @ 199 ©3 SwiRe Ssfaasrar o

oan oo

q, "77 I, BIYNF o [Ty I949; — 2I9-47-T1CS g, G TV A7,
fows1gfe St aiefa’-a3 SRo1b7 ot 72

. IFAR SPI

. NI3EH ILHTS W6
TG TSTHA IAIY

. SIS AT

TG b. NS ILMA 78

17T @3 g Roreifb e sifzroR sdron @IS i< FI3E FLTF wess
'ISreNl" FiIo! (A @8I AR

N oo

b. AILETACIT SO AT WIHEHT (F KIS FIS?

T e
. WINAE SgEay
TN AR ST

J2IE) AGATS
T83: d. ¥ IAEATS

JITATE: AT AR TGIIT, SIS TRAMF W@ I=) A FiF1S,
BfHo IR T IR

on oo

5. o ey IFT SATIN @S 137 (F1H{6?

a. 9ol
b. ®Ifsa

C. @RI



d. gfag

TQd: C. AEET

I (ST fE g, @ @I (WEoE) @ IEIIIF [EIF IS SATIN &S
23 RRoTE f[AF1oe 2w | ©@ a3 TS &fs I77 #7550 331

S0, “STISIY SN IS AT TFS 37 SICA” Seag IO (72

WA YA
. OTEIW W 3y

I
. W SR

TBT: d. W GA

Qanoow

AT “STITN N IS TN AP 237 A" SSo7 SSRIGFT aceT9 I
TS FHATCIG NS SR |



